

Rong Ma; Yulong Zhang
On a kind of generalized Lehmer problem

Czechoslovak Mathematical Journal, Vol. 62 (2012), No. 4, 1135–1146

Persistent URL: <http://dml.cz/dmlcz/143049>

Terms of use:

© Institute of Mathematics AS CR, 2012

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://dml.cz>

ON A KIND OF GENERALIZED LEHMER PROBLEM

RONG MA, YULONG ZHANG, Xi'an

(Received September 19, 2011)

Abstract. For $1 \leq c \leq p-1$, let E_1, E_2, \dots, E_m be fixed numbers of the set $\{0, 1\}$, and let a_1, a_2, \dots, a_m ($1 \leq a_i \leq p$, $i = 1, 2, \dots, m$) be of opposite parity with E_1, E_2, \dots, E_m respectively such that $a_1 a_2 \dots a_m \equiv c \pmod{p}$. Let

$$N(c, m, p) = \frac{1}{2^{m-1}} \sum_{\substack{a_1=1 \\ a_1 a_2 \dots a_m \equiv c \pmod{p}}}^{p-1} \sum_{a_2=1}^{p-1} \dots \sum_{a_m=1}^{p-1} (1 - (-1)^{a_1 + E_1})(1 - (-1)^{a_2 + E_2}) \dots (1 - (-1)^{a_m + E_m}).$$

We are interested in the mean value of the sums

$$\sum_{c=1}^{p-1} E^2(c, m, p),$$

where $E(c, m, p) = N(c, m, p) - ((p-1)^{m-1})/(2^{m-1})$ for the odd prime p and any integers $m \geq 2$. When $m = 2$, $c = 1$, it is the Lehmer problem. In this paper, we generalize the Lehmer problem and use analytic method to give an interesting asymptotic formula of the generalized Lehmer problem.

Keywords: Lehmer problem, character sum, Dirichlet L -function, asymptotic formula

MSC 2010: 11N37, 11M06

1. INTRODUCTION

Let p be an odd prime. For each integer a with $1 \leq a \leq p-1$, we know that there exists one and only one b with $1 \leq b \leq p-1$ such that $ab \equiv 1 \pmod{p}$. Lehmer [2] asks us to find the number of (a, b) in which a and b are of opposite parity with the

This work is supported by Basic Research Fund of Northwestern Polytechnical University of P. R. China (JC201123).

conditions above. For any fixed integer c ($1 \leq c \leq p-1$), let $N(c, p)$ be the number of solutions of the congruent equation $ab \equiv c \pmod{p}$ for $1 \leq a, b \leq p-1$ in which a and b are of opposite parity; this can be expressed by

$$N(c, p) = \sum_{\substack{a=1 \\ ab \equiv c \pmod{p} \\ 2 \nmid a+b}}^{p-1} \sum_{b=1}^{p-1} 1.$$

Wenpeng Zhang [7] has studied the problem and has got

$$N(c, p) = \frac{1}{2} \sum_{\substack{a=1 \\ ab \equiv c \pmod{p}}}^{p-1} \sum_{b=1}^{p-1} (1 - (-1)^{a+b}) = \frac{p-1}{2} + O(p^{1/2} \log^2 p).$$

It is also known that Wenpeng Zhang [8] has proved the formula

$$\sum_{c=1}^{p-1} \left(N(c, p) - \frac{p-1}{2} \right)^2 = \frac{3}{4} p^2 + O(p^{1+\varepsilon}),$$

from which it can be concluded that the error term of $N(c, p)$ may be the best estimate. There are many other results about the problem by a lot of scholars ([6], [5], [3], [4]).

Let E_1, E_2, \dots, E_m be fixed numbers of the set $\{0, 1\}$, and let a_1, a_2, \dots, a_m ($1 \leq a_i \leq p$, $i = 1, 2, \dots, m$) be of opposite parity with E_1, E_2, \dots, E_m respectively such that $a_1 a_2 \dots a_m \equiv c \pmod{p}$. As a general case of $N(c, p)$, we define

$$N(c, m, p) = \frac{1}{2^{m-1}} \sum_{\substack{a_1=1 \\ a_1 a_2 \dots a_m \equiv c \pmod{p}}}^{p-1} \sum_{a_2=1}^{p-1} \dots \sum_{a_m=1}^{p-1} (1 - (-1)^{a_1+E_1})(1 - (-1)^{a_2+E_2}) \dots (1 - (-1)^{a_m+E_m}),$$

and denote

$$E(c, m, p) = N(c, m, p) - \frac{(p-1)^{m-1}}{2^{m-1}}.$$

In this paper, we will study the mean value of the sums defined above, that is

$$\sum_{c=1}^{p-1} E^2(c, m, p),$$

where $E(c, m, p) = N(c, m, p) - ((p-1)^{m-1})/(2^{m-1})$ for the odd prime p and any integers $m \geq 2$, and get an interesting asymptotic formula. That is, we will prove the following theorem.

Theorem. Let p be an odd prime, let E_1, E_2, \dots, E_m be fixed numbers of the set $\{0, 1\}$, let $E(c, m, p)$ be defined as above. Then for any integers $m \geq 2$ and $1 \leq c \leq p - 1$ we have the asymptotic formula

$$\sum_{c=1}^{p-1} E^2(c, m, p) = \frac{1}{2} K(m) \left(\frac{-5p}{\pi^2} \right)^m \zeta^{2m-1}(2) \prod_{\substack{p_0 \neq p \\ p_0 \neq 2}} A(m, p_0, 2) + O(p^{m-1+\varepsilon}),$$

where

$$K(m) = \sum_{i=0}^m \binom{m}{i} \left(-\frac{2}{5} \right)^i \sum_{j=0}^i \binom{i}{j} (-1)^j \frac{1}{2^{|i-2j|}} \left(3 \binom{m+|i-2j|-1}{|i-2j|} + \binom{2m-2}{m-1} \right),$$

$\zeta(s)$ is the Riemann zeta function, $\prod_{\substack{p_0 \neq p \\ p_0 \neq 2}}$ denotes the product for all primes except p and 2 and $A(m, p, s) = \sum_{r=0}^{2m-2} 1/p^{rs} \sum_{t=0}^r (-1)^t \binom{2m-1}{t} \binom{m+r-t-1}{r-t}^2$.

If $m = 2$, $c = 1$, and E_1, E_2 are of opposite parity (such as $E_1 = 0, E_2 = 1$ or $E_1 = 1, E_2 = 0$), this is the Lehmer problem, namely $N(1, 2, p) = N(1, p)$. If $m = 3$, we have the following corollary.

Corollary. Let p be an odd prime, and $E(c, 3, p) = N(c, 3, p) - \frac{1}{4}(p-1)^2$. Then we have the asymptotic formula

$$\sum_{c=1}^{p-1} E^2(c, 3, p) = \frac{765}{2\pi^6} p^3 \zeta^5(2) \prod_{\substack{p_0 \neq p \\ p_0 \neq 2}} \left(1 + \frac{4}{p_0^2} + \frac{1}{p_0^4} \right) + O(p^{2+\varepsilon}).$$

2. SOME LEMMAS

To complete the proof of the above theorems, we need the several lemmas.

Lemma 1. Let p be an odd prime, and let χ denote the Dirichlet character modulo p . Then we have the identities

$$\sum_{a=1}^{p-1} (-1)^a \chi(a) = \begin{cases} 0, & \chi(-1) = 1; \\ \frac{i}{\pi} 2\chi(2)(\bar{\chi}(2) - 2)\tau(\chi)L(1, \bar{\chi}), & \chi(-1) = -1, \end{cases}$$

where $\tau(\chi) = \sum_{n=1}^{p-1} \chi(n)e\left(\frac{n}{p}\right)$ is the Gauss sum, $L(1, \chi)$ is the Dirichlet L -function and i is the imaginary unit.

Proof. See [7]. □

Lemma 2. Let p be an odd prime, let E_1, E_2, \dots, E_m be fixed numbers of the set $\{0, 1\}$. For any integer c ($1 \leq c \leq p - 1$) and $m \geq 2$, define

$$N(c, m, p) = \frac{1}{2^{m-1}} \sum_{\substack{a_1=1 \\ a_1 a_2 \dots a_m \equiv c \pmod{p}}}^{p-1} \sum_{\substack{a_2=1 \\ a_2 \dots a_m \equiv c \pmod{p}}}^{p-1} \dots \times \sum_{\substack{a_m=1 \\ a_m \equiv c \pmod{p}}}^{p-1} (1 - (-1)^{a_1+E_1})(1 - (-1)^{a_2+E_2}) \dots (1 - (-1)^{a_m+E_m}).$$

Then we have

$$N(c, m, p) = \frac{(p-1)^{m-1}}{2^{m-1}} + \frac{2}{(p-1)} \left(\frac{i}{\pi}\right)^m (-1)^{E_1+E_2+\dots+E_m+m} \times \sum_{\substack{\chi \pmod{p} \\ \chi(-1)=-1}} \bar{\chi}(c) \chi(2^m) (\bar{\chi}(2) - 2)^m \tau^m(\chi) L^m(1, \bar{\chi}),$$

where χ is the Dirichlet character modulo p , $\tau(\chi)$ is the Gauss sum, $L(1, \chi)$ is the Dirichlet L -function and i is the imaginary unit.

Proof. From the definition of $N(c, m, p)$ and the orthogonality of character sums we get

$$\begin{aligned} N(c, m, p) &= \frac{1}{2^{m-1}} \sum_{\substack{a_1=1 \\ a_1 a_2 \dots a_m \equiv c \pmod{p}}}^{p-1} \dots \sum_{\substack{a_m=1 \\ a_m \equiv c \pmod{p}}}^{p-1} (1 - (-1)^{a_1+E_1})(1 - (-1)^{a_2+E_2}) \dots (1 - (-1)^{a_m+E_m}) \\ &= \frac{1}{2^{m-1}} \sum_{\substack{a_1=1 \\ a_1 a_2 \dots a_m \equiv c \pmod{p}}}^{p-1} \dots \sum_{\substack{a_m=1 \\ a_m \equiv c \pmod{p}}}^{p-1} 1 - \frac{1}{2^{m-1}} \sum_{\substack{a_1=1 \\ a_1 a_2 \dots a_m \equiv c \pmod{p}}}^{p-1} \dots \sum_{\substack{a_m=1 \\ a_m \equiv c \pmod{p}}}^{p-1} (-1)^{a_1+E_1} + \dots \\ &\quad + \frac{1}{2^{m-1}} \sum_{\substack{a_1=1 \\ a_1 a_2 \dots a_m \equiv c \pmod{p}}}^{p-1} \dots \sum_{\substack{a_m=1 \\ a_m \equiv c \pmod{p}}}^{p-1} (-1)^{a_1+a_2+\dots+a_m+E_1+E_2+\dots+E_m+m} \\ &= \frac{1}{2^{m-1}} \sum_{a_1=1}^{p-1} \dots \sum_{a_{m-1}=1}^{p-1} 1 - \frac{1}{2^{m-1}} \sum_{a_1=1}^{p-1} \dots \sum_{a_{m-1}=1}^{p-1} (-1)^{a_1+E_1} + \dots \\ &\quad + \frac{1}{2^{m-1}} (-1)^{E_1+E_2+\dots+E_m+m} \sum_{\substack{a_1=1 \\ a_1 a_2 \dots a_m \equiv c \pmod{p}}}^{p-1} \dots \sum_{\substack{a_m=1 \\ a_m \equiv c \pmod{p}}}^{p-1} (-1)^{a_1+a_2+\dots+a_m} \end{aligned}$$

$$\begin{aligned}
&= \frac{(p-1)^{m-1}}{2^{m-1}} - \frac{1}{2^{m-1}}(-1)^{E_1} \sum_{a_2=1}^{p-1} \cdots \sum_{a_{m-1}=1}^{p-1} \sum_{a_1=1}^{p-1} (-1)^{a_1} + \cdots \\
&\quad + \frac{(-1)^{E_1+E_2+\dots+E_m+m}}{2^{m-1}(p-1)} \sum_{\chi \bmod p} \bar{\chi}(c) \sum_{a_1=1}^{p-1} \cdots \sum_{a_m=1}^{p-1} (-1)^{a_1+a_2+\dots+a_m} \chi(a_1 \dots a_m) \\
&= \frac{(p-1)^{m-1}}{2^{m-1}} + \frac{(-1)^{E_1+E_2+\dots+E_m+m}}{2^{m-1}(p-1)} \sum_{\chi \bmod p} \bar{\chi}(c) \left(\sum_{a=1}^{p-1} (-1)^a \chi(a) \right)^m
\end{aligned}$$

where we have used mathematical induction to prove that all of the sums are zero except the first and the last. Therefore according to Lemma 1, we have

$$\begin{aligned}
N(c, m, p) &= \frac{(p-1)^{m-1}}{2^{m-1}} + \frac{(-1)^{E_1+E_2+\dots+E_m+m}}{2^{m-1}(p-1)} \\
&\quad \times \left(\sum_{\substack{\chi \bmod p \\ \chi(-1)=1}} \bar{\chi}(c) \left(\sum_{a=1}^{p-1} (-1)^a \chi(a) \right)^m + \sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} \bar{\chi}(c) \left(\sum_{a=1}^{p-1} (-1)^a \chi(a) \right)^m \right) \\
&= \frac{(p-1)^{m-1}}{2^{m-1}} + \frac{(-1)^{E_1+E_2+\dots+E_m+m}}{2^{m-1}(p-1)} \sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} \bar{\chi}(c) \left(\sum_{a=1}^{p-1} (-1)^a \chi(a) \right)^m \\
&= \frac{(p-1)^{m-1}}{2^{m-1}} + \frac{2}{(p-1)} \left(\frac{i}{\pi} \right)^m (-1)^{E_1+E_2+\dots+E_m+m} \\
&\quad \times \sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} \bar{\chi}(c) \chi(2^m) (\bar{\chi}(2) - 2)^m \tau^m(\chi) L^m(1, \bar{\chi}).
\end{aligned}$$

This proves Lemma 2. □

Lemma 3. Let q be an odd integer, $d_m(n)$ the m divisor function. Then for any positive integer $m \geq 2$ and any integer $k \geq 0$, we have

$$\begin{aligned}
&\sum_{n=1}^{+\infty} \frac{d_m(2^k n) d_m(n)}{n^2} \\
&= \left(\frac{3 \binom{m+k-1}{k} + \binom{2m-2}{m-1}}{4} \right) \zeta^{2m-1}(2) \prod_{p|q} \left(1 - \frac{1}{p^2} \right)^{2m-1} \prod_{p \nmid 2q} A(m, p_0, 2),
\end{aligned}$$

where $\zeta(s)$ is the Riemann zeta function, \sum'_n denotes the summation over n except $(n, q) = 1$, \prod_p denotes the product over all primes p such that the conditions are

$$\text{satisfied, and } A(m, p, s) = \sum_{r=0}^{2m-2} 1/p^{rs} \sum_{t=0}^r (-1)^t \binom{2m-1}{t} \binom{m+r-t-1}{r-t}^2.$$

Proof. See Lemma 9 in [5]. □

Lemma 4. Let p be an odd prime, let χ denote the Dirichlet character modulo p and $L(1, \chi)$ the Dirichlet L -function. Then for any integer k ($= 0, \pm 1, \pm 2, \dots$) and $m \geq 2$ we have

$$\begin{aligned} \sum_{\substack{\chi \pmod p \\ \chi(-1)=-1}} \chi(2^k) |L(1, \chi)|^{2m} &= \sum_{\substack{\bar{\chi} \pmod p \\ \bar{\chi}(-1)=-1}} \bar{\chi}(2^k) |L(1, \chi)|^{2m} \\ &= \frac{p-1}{2^{k+3}} \left(3 \binom{m+k-1}{k} + \binom{2m-2}{m-1} \right) \zeta^{2m-1}(2) \prod_{\substack{p_0 \neq p \\ p_0 \neq 2}} A(m, p_0, 2) + O(p^\varepsilon), \end{aligned}$$

where $\prod_{\substack{p_0 \neq p \\ p_0 \neq 2}}$ denotes the product over all primes p_0 except 2 and p , $A(m, p, s) = \sum_{r=0}^{2m-2} 1/p^{rs} \sum_{t=0}^r (-1)^t \binom{2m-1}{t} \binom{m+r-t-1}{r-t}^2$, and ε is any fixed positive number.

Proof. First, for $\text{Re}(s) > 1$, the series $L(s, \chi)$ is absolutely convergent, so applying Abel's identity (see [1]) we have

$$\begin{aligned} L^m(s, \chi) &= \sum_{n=1}^{\infty} \frac{\chi(n) d_m(n)}{n^s} \\ &= \sum_{n=1}^{p/2^k} \frac{\chi(n) d_m(n)}{n^s} + s \int_{p/2^k}^{+\infty} \frac{\sum_{p/2^k < n \leq y} \chi(n) d_m(n)}{y^{s+1}} dy \\ &= \sum_{l=1}^p \frac{\chi(l) d_m(l)}{l^s} + s \int_p^{+\infty} \frac{\sum_{p < l \leq z} \chi(l) d_m(l)}{z^{s+1}} dz. \end{aligned}$$

Obviously the above formula also holds for $s = 1$ and $\chi(-1) = -1$. Hence according to the definition of the Dirichlet L -function, for any integer k we have

$$\begin{aligned} \sum_{\substack{\chi \pmod p \\ \chi(-1)=-1}} \chi(2^k) |L(1, \chi)|^{2m} &= \sum_{\substack{\chi \pmod p \\ \chi(-1)=-1}} \chi(2^k) \left(\sum_{n=1}^{\infty} \frac{\chi(n) d_m(n)}{n} \right) \left(\sum_{l=1}^{\infty} \frac{\bar{\chi}(l) d_m(l)}{l} \right) \\ &= \sum_{\substack{\chi \pmod p \\ \chi(-1)=-1}} \chi(2^k) \left(\sum_{n=1}^{p/2^k} \frac{\chi(n) d_m(n)}{n} + \int_{p/2^k}^{+\infty} \frac{\sum_{p/2^k < n \leq y} \chi(n) d_m(n)}{y^2} dy \right) \\ &\quad \times \left(\sum_{l=1}^p \frac{\bar{\chi}(l) d_m(l)}{l} + \int_p^{+\infty} \frac{\sum_{p < l \leq z} \bar{\chi}(l) d_m(l)}{z^2} dz \right) \end{aligned}$$

$$\begin{aligned}
&= \sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} \chi(2^k) \left(\sum_{n=1}^{p/2^k} \frac{\chi(n)d_m(n)}{n} \right) \left(\sum_{l=1}^p \frac{\bar{\chi}(l)d_m(l)}{l} \right) \\
&+ \sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} \chi(2^k) \left(\sum_{n=1}^{p/2^k} \frac{\chi(n)d_m(n)}{n} \right) \left(\int_p^{+\infty} \frac{\sum_{p < l \leq z} \bar{\chi}(l)d_m(l)}{z^2} dz \right) \\
&+ \sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} \chi(2^k) \left(\sum_{l=1}^p \frac{\bar{\chi}(l)d_m(l)}{l} \right) \left(\int_{p/2^k}^{+\infty} \frac{\sum_{p/2^k < n \leq y} \chi(n)d_m(n)}{y^2} dy \right) \\
&+ \sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} \chi(2^k) \left(\int_{p/2^k}^{+\infty} \frac{\sum_{p/2^k < n \leq y} \chi(n)d_m(n)}{y^2} dy \right) \left(\int_p^{+\infty} \frac{\sum_{p < l \leq z} \bar{\chi}(l)d_m(l)}{z^2} dz \right) \\
&\equiv M_1 + M_2 + M_3 + M_4 \quad (\text{say}).
\end{aligned}$$

Now we will estimate each term of the above.

(i) From the orthogonality relation for character sums modulo p , we know that for $(p, nl) = 1$ we have the identity (see [1])

$$\sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} \chi(n)\bar{\chi}(l) = \begin{cases} \frac{p-1}{2}, & \text{if } n \equiv l \pmod{p}; \\ -\frac{p-1}{2}, & \text{if } n \equiv -l \pmod{p}; \\ 0, & \text{otherwise.} \end{cases}$$

Then according to Lemma 3, we can easily get

$$\begin{aligned}
M_1 &= \sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} \chi(2^k) \left(\sum_{n=1}^{p/2^k} \frac{\chi(n)d_m(n)}{n} \right) \left(\sum_{l=1}^p \frac{\bar{\chi}(l)d_m(l)}{l} \right) \\
&= \sum_{n=1}^{p/2^k} \sum_{l=1}^p \frac{d_m(n)d_m(l)}{nl} \sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} \chi(2^k n)\bar{\chi}(l) \\
&= \frac{p-1}{2} \sum_{\substack{n=1 \\ 2^k n \equiv l \pmod{p}}}^{p/2^k} \sum_{l=1}^p \frac{d_m(n)d_m(l)}{nl} - \frac{p-1}{2} \sum_{\substack{n=1 \\ 2^k n \equiv -l \pmod{p}}}^{p/2^k} \sum_{l=1}^p \frac{d_m(n)d_m(l)}{nl} \\
&= \frac{p-1}{2} \sum_{n=1}^{p/2^k} \frac{d_m(2^k n)d_m(n)}{2^k n^2} - \frac{p-1}{2} \sum_{\substack{n=1 \\ 2^k n+l \equiv 0 \pmod{p}}}^{p/2^k} \sum_{l=1}^p \frac{d_m(n)d_m(l)}{nl}
\end{aligned}$$

$$\begin{aligned}
&= \frac{p-1}{2} \sum_{n=1}^{+\infty} \frac{d_m(2^k n) d_m(n)}{2^k n^2} + O(p^\varepsilon) + O\left(p^\varepsilon \sum_{n=1}^{p/2^k} \sum_{\substack{l=1 \\ 2^k n+l=p}}^p \frac{2^k}{l} + p^\varepsilon \sum_{n=1}^{p/2^k} \sum_{\substack{l=1 \\ 2^k n+l=p}}^p \frac{1}{n}\right) \\
&= \frac{p-1}{2^{k+3}} \left(3 \binom{m+k-1}{k} + \binom{2m-2}{m-1}\right) \zeta^{2m-1}(2) \prod_{\substack{p_0 \neq p \\ p_0 \neq 2}} A(m, p_0, 2) + O(p^\varepsilon),
\end{aligned}$$

where \sum'_n indicates the summation over n such that $(n, p) = 1$, $\prod_{\substack{p_0 \neq p \\ p_0 \neq 2}}$ denotes the product over all primes p_0 except 2 and p and

$$A(m, p, s) = \sum_{r=0}^{2m-2} \frac{1}{p^{rs}} \sum_{t=0}^r (-1)^t \binom{2m-1}{t} \binom{m+r-t-1}{r-t}^2.$$

(ii) According to the method of (i) and making use of some properties of characters, we have

$$\begin{aligned}
M_2 &= \sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} \chi(2^k) \left(\sum_{n=1}^{p/2^k} \frac{\chi(n) d_m(n)}{n} \right) \left(\int_p^{+\infty} \frac{\sum_{p < l \leq z} \bar{\chi}(l) d_m(l)}{z^2} dz \right) \\
&= \sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} \chi(2^k) \left(\sum_{n=1}^{p/2^k} \frac{\chi(n) d_m(n)}{n} \right) \left(\int_p^{p^{3(2^m-2)}} \frac{\sum_{p < l \leq z} \bar{\chi}(l) d_m(l)}{z^2} dz \right) \\
&\quad + \sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} \chi(2^k) \left(\sum_{n=1}^{p/2^k} \frac{\chi(n) d_m(n)}{n} \right) \left(\int_{p^{3(2^m-2)}}^{+\infty} \frac{\sum_{p < l \leq z} \bar{\chi}(l) d_m(l)}{z^2} dz \right) \\
&\leq \int_p^{p^{3(2^m-2)}} \frac{1}{z^2} \left| \sum_{n=1}^{p/2^k} \sum'_{p < l \leq z} \frac{d_m(n) d_m(l)}{n} \sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} \chi(2^k n) \bar{\chi}(l) \right| dz \\
&\quad + \int_{p^{3(2^m-2)}}^{+\infty} \frac{1}{z^2} \left| \sum_{n=1}^{p/2^k} \frac{d_m(n)}{n} \sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} \chi(2^k n) \sum_{p < l \leq z} \bar{\chi}(l) d_m(l) \right| dz \\
&\ll \int_p^{p^{3(2^m-2)}} \frac{p}{z^2} \left| \sum_{n=1}^{p/2^k} \sum'_{\substack{p < l \leq z \\ 2^k n \equiv l \pmod{p}}} \frac{d_m(n) d_m(l)}{n} \right| dz + \int_p^{p^{3(2^m-2)}} \frac{p}{z^2} \left| \sum_{n=1}^{p/2^k} \sum'_{\substack{p < l \leq z \\ 2^k n \equiv -l \pmod{p}}} \frac{d_m(n) d_m(l)}{n} \right| dz \\
&\quad + p^\varepsilon \int_{p^{3(2^m-2)}}^{+\infty} \frac{1}{z^2} \sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} \left| \sum_{p < l \leq z} \bar{\chi}(l) d_m(l) \right| dz.
\end{aligned}$$

According to the properties of $d_m(n)$ we have

$$\sum'_{n=1}^{p/2^k} \sum'_{p < l \leq z} \frac{d_m(n)d_m(l)}{n} \ll p^\varepsilon \sum_{n=1}^{p/2^k} \sum_{1 < l \leq z/p} \frac{1}{n} \ll p^{-1+\varepsilon} z;$$

$$\sum'_{n=1}^{p/2^k} \sum'_{p < l \leq z} \frac{d_m(n)d_m(l)}{n} \ll p^\varepsilon \sum_{n=1}^{p/2^k} \sum_{1 < l \leq z/p} \frac{1}{n} \ll p^{-1+\varepsilon} z.$$

Applying the Cauchy inequality and Lemma 4 in [8] we can easily get

$$\sum_{\substack{\chi \pmod p \\ \chi(-1)=-1}} \left| \sum_{p < l \leq z} \bar{\chi}(l)d_m(l) \right|$$

$$\ll \left(\sum_{\substack{\chi \pmod p \\ \chi(-1)=-1}} 1^2 \right)^{1/2} \left(\sum_{\substack{\chi \pmod p \\ \chi(-1)=-1}} \left| \sum_{p < l \leq z} \bar{\chi}(l)d_m(l) \right|^2 \right)^{1/2} \ll p^{1/2} z^{1-2/2^m+\varepsilon}.$$

Therefore, we have

$$M_2 \ll p^\varepsilon \int_p^{p^{3(2^m-2)}} \frac{1}{z} dz + p^{1/2+\varepsilon} \int_{p^{3(2^m-2)}}^{+\infty} z^{-1-2/2^m+\varepsilon} dz \ll p^\varepsilon.$$

(iii) Similarly, we also have

$$\sum_{\substack{\chi \pmod p \\ \chi(-1)=-1}} \chi(2^k) \left(\sum_{l=1}^p \frac{\bar{\chi}(l)d_m(l)}{l} \right) \left(\int_{p/2^k}^{+\infty} \frac{\sum_{p/2^k < n \leq y} \chi(n)d_m(n)}{y^2} dy \right) \ll p^\varepsilon.$$

(iv) Using the method of (ii), we have

$$\sum_{\substack{\chi \pmod p \\ \chi(-1)=-1}} \chi(2^k) \left(\int_{p/2^k}^{+\infty} \frac{\sum_{p/2^k < n \leq y} \chi(n)d_m(n)}{y^2} dy \right) \left(\int_p^{+\infty} \frac{\sum_{p < l \leq z} \bar{\chi}(l)d_m(l)}{z^2} dz \right)$$

$$= \int_{p/2^k}^{+\infty} \int_p^{+\infty} \frac{1}{y^2 z^2} \left(\sum_{\substack{\chi \pmod p \\ \chi(-1)=-1}} \chi(2^k) \sum_{p/2^k < n \leq y} \chi(n)d_m(n) \sum_{p < l \leq z} \bar{\chi}(l)d_m(l) \right) dy dz$$

$$\ll \int_{p/2^k}^{+\infty} \int_p^{+\infty} \frac{1}{y^2 z^2} \left| \sum_{\substack{\chi \pmod p \\ \chi(-1)=-1}} \left| \sum_{p/2^k < n \leq y} \chi(n)d_m(n) \right| \right| \left| \sum_{p < l \leq z} \bar{\chi}(l)d_m(l) \right| dy dz$$

$$\begin{aligned}
&\leq \int_{p/2^k}^{+\infty} \int_p^{+\infty} \frac{1}{y^2 z^2} \left| \left(\sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} \left| \sum_{p/2^k < n \leq y} \chi(n) d_m(n) \right|^2 \right)^{1/2} \right. \\
&\quad \times \left. \left(\sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} \left| \sum_{p < l \leq z} \bar{\chi}(l) d_m(l) \right|^2 \right)^{1/2} \right| dy dz \\
&\ll \int_{p/2^k}^{+\infty} \int_p^{+\infty} \frac{1}{y^2 z^2} |y^{1-2/2^m+\varepsilon} z^{1-2/2^m+\varepsilon}| dy dz \\
&\ll \int_{p/2^k}^{+\infty} \int_p^{+\infty} y^{-1-2/2^m+\varepsilon} z^{-1-2/2^m+\varepsilon} dy dz \ll p^{-4/2^m+\varepsilon}.
\end{aligned}$$

Combining the estimates of (i), (ii), (iii) and (iv), we immediately obtain

$$\begin{aligned}
&\sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} \chi(2^k) |L(1, \chi)|^{2m} \\
&= \frac{p-1}{2^{k+3}} \left(3 \binom{m+k-1}{k} + \binom{2m-2}{m-1} \right) \zeta^{2m-1}(2) \prod_{\substack{p_0 \neq p \\ p_0 \neq 2}} A(m, p_0, 2) + O(p^\varepsilon),
\end{aligned}$$

where $\prod_{\substack{p_0 \neq p \\ p_0 \neq 2}}$ denotes the product over all primes p_0 except 2 and p , $A(m, p, s) = \sum_{r=0}^{2m-2} 1/p^{rs} \sum_{t=0}^r (-1)^t \binom{2m-1}{t} \binom{m+r-t-1}{r-t}^2$, and ε is any fixed positive number. This completes the proof of Lemma 4. \square

3. PROOF OF THEOREM

In this section, we complete the proof of the theorem. First, from the definition of $E(c, m, p)$ and the orthogonality of character sums we have

$$\begin{aligned}
&\sum_{c=1}^{p-1} E^2(c, m, p) \\
&= \frac{4}{(p-1)^2} \left(\frac{i}{\pi} \right)^{2m} \sum_{c=1}^{p-1} \left(\sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} \bar{\chi}(c) \chi(2^m) (\bar{\chi}(2) - 2)^m \tau^m(\chi) L^m(1, \bar{\chi}) \right)^2
\end{aligned}$$

$$\begin{aligned}
&= \frac{4}{(p-1)^2} \left(\frac{i}{\pi}\right)^{2m} \sum_{\substack{\chi_1 \bmod p \\ \chi_1(-1)=-1}} \chi_1(2^m)(\bar{\chi}_1(2) - 2)^m \tau^m(\chi_1) L^m(1, \bar{\chi}_1) \\
&\quad \times \sum_{\substack{\chi_2 \bmod p \\ \chi_2(-1)=-1}} \chi_2(2^m)(\bar{\chi}_2(2) - 2)^m \tau^m(\chi_2) L^m(1, \bar{\chi}_2) \sum_{c=1}^{p-1} \bar{\chi}_1(c) \bar{\chi}_2(c) \\
&= \frac{4}{p-1} \left(\frac{i}{\pi}\right)^{2m} \sum_{\substack{\chi_1 \bmod p \\ \chi_1(-1)=-1}} \sum_{\substack{\chi_1 \bmod p \\ \chi_1(-1)=-1 \\ \bar{\chi}_1 \bar{\chi}_2 = \chi_0}} \\
&\quad (1 - 2\chi_1(2))^m (1 - 2\chi_2(2))^m \tau^m(\chi_1) \tau^m(\chi_2) L^m(1, \bar{\chi}_1) L^m(1, \bar{\chi}_1) \\
&= \frac{4}{p-1} \left(\frac{i}{\pi}\right)^{2m} \sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} |1 - 2\chi(2)|^{2m} |\tau(\chi)|^{2m} |L(1, \chi)|^{2m} \\
&= \frac{4}{p-1} \left(\frac{i}{\pi}\right)^{2m} \sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} (5 - 2\chi(2) - 2\bar{\chi}(2))^m |\tau(\chi)|^{2m} |L(1, \chi)|^{2m} \\
&= \frac{4(5p)^m}{p-1} \left(\frac{i}{\pi}\right)^{2m} \sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} \left(1 - \frac{2}{5}(\chi(2) - \bar{\chi}(2))\right)^m |L(1, \chi)|^{2m} \\
&= \frac{4}{p-1} \left(\frac{-5p}{\pi^2}\right)^m \sum_{i=0}^m \binom{m}{i} \left(-\frac{2}{5}\right)^i \sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} (\chi(2) - \bar{\chi}(2))^i |L(1, \chi)|^{2m} \\
&= \frac{4}{p-1} \left(\frac{-5p}{\pi^2}\right)^m \sum_{i=0}^m \binom{m}{i} \left(-\frac{2}{5}\right)^i \sum_{j=0}^i \binom{i}{j} (-1)^j \sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} \chi^{i-2j}(2) |L(1, \chi)|^{2m},
\end{aligned}$$

where χ^{-1} means $\bar{\chi}$. From Lemma 4 we have

$$\sum_{c=1}^{p-1} E^2(c, m, p) = \frac{1}{2} K(m) \left(\frac{-5p}{\pi^2}\right)^m \zeta^{2m-1}(2) \prod_{\substack{p_0 \neq p \\ p_0 \neq 2}} A(m, p_0, 2) + O(p^{m-1+\varepsilon}),$$

where

$$\begin{aligned}
K(m) &= \sum_{i=0}^m \binom{m}{i} \left(-\frac{2}{5}\right)^i \sum_{j=0}^i \binom{i}{j} (-1)^j \frac{1}{2^{|i-2j|}} \\
&\quad \times \left(3 \binom{m+|i-2j|-1}{|i-2j|} + \binom{2m-2}{m-1}\right)
\end{aligned}$$

and

$$A(m, p, s) = \sum_{r=0}^{2m-2} \frac{1}{p^{rs}} \sum_{t=0}^r (-1)^t \binom{2m-1}{t} \binom{m+r-t-1}{r-t}^2.$$

This completes the proof of Theorem. \square

References

- [1] *T. M. Apostol*: Introduction to Analytic Number Theory. Springer, New York, 1976.
- [2] *R. K. Guy*: Unsolved Problems in Number Theory. Springer, New York-Heidelberg-Berlin, 1981.
- [3] *R. Ma, J. Zhang, Y. Zhang*: On the $2m$ th power mean of Dirichlet L -functions with the weight of trigonometric sums. Proc. Indian Acad. Sci., Math. Sci. *119* (2009), 411–421.
- [4] *R. Ma, Y. Yi, Y. Zhang*: On the mean value of the generalized Dirichlet L -functions. Czech. Math. J. *60* (2010), 597–620.
- [5] *Z. Xu, W. Zhang*: On the $2k$ th power mean of the character sums over short intervals. Acta Arith. *121* (2006), 149–160.
- [6] *Z. Xu, W. Zhang*: On a problem of D.H. Lehmer over short intervals. J. Math. Anal. Appl *320* (2006), 756–770.
- [7] *W. Zhang*: On a problem of D.H. Lehmer and its generalization. Compos. Math. *86* (1993), 307–316.
- [8] *W. Zhang*: A problem of D.H. Lehmer and its generalization (II). Compos. Math. *91* (1994), 47–56.

Authors' addresses: R. Ma, School of Science, Northwestern Polytechnical University, Xi'an, Shaanxi, 710072, P. R. China, e-mail: marong0109@163.com; Y. Zhang, The School of Electronic and Information Engineering, Xi'an Jiaotong University, Xi'an, Shaanxi, 710049, P. R. China, e-mail: zzboyzy1@163.com.